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Abstract In FCMBP algorithm, there is no effective generation algorithm in the database of the translation equivalence classes of high-order
fuzzy equivalent standard matrix in the past time, and it is very complicated to define the corresponding database of similar parameters system for
each translation equivalence class of fuzzy equivalent standard matrix. In order to solve the problems, this paper proposes an automatic generation
algorithm for the database of the translation equivalence classes with the low to high standard fuzzy equivalent matrix, and an algorithm for
generating the corresponding database of the equivalent classes of similar parameters system. The case proves that the algorithm effectively solve the
problem of automatic generation for the database of the translation equivalence classes of high-order fuzzy equivalent standard matrix.
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